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1. YDERE (BAAT: 5 )
CIRE:S 4 H - H

(H27.4~H28.3) (H28.4~H29.3) HE AR E&% )

~ 4 KA % (%) 4 KA FER (%)

i B = 50,241 100.0 52,120 100.0 1,879 3.7
= E S F) % 2,156 4.3 2,349 4.5 193 9.0
o it il A 3,384 6.7 3,607 6.9 223 6.6
T 2,691 5.4 2,923 5.6 9232 8.6
X T & /5 3,766 — 3,187 — A 579 A 15.4
- S - ¢ 2,161 — 2,463 — 302 14.0
2. 7o = BAHE (A7 E 77 )
CIRE:S 4 H N Hi

(H27.4~H28.3) (H28.4~H29.3) HE IR j% )

4 KA % (%) 4 KA FER (%)

{t, % e 7,309 14.6 7,052 13.5 A 257 A 3.5
2y w X B B oM 17,885 35.6 21,142 40.6 3,257 18.2
i X BB 2,269 4.5 2,338 4.5 69 3.0
fml 7 — % 8w R 10,552 21.0 10,318 19.8 A 234 A 2.2
| A il il T 10,002 19.9 9,455 18.1 A 547 AN 5.5
Z O (3% i - £ EH) 2,224 4.4 1,815 3.5 A\ 409 A 18.4
3 50,241 100.0 52,120 100.0 1,879 3.7
[ - 11,599 23.1 14,636 28.1 3,037 26.2
A 11,927 23.7 13,075 25.1 1,148 9.6
. VAR 9,604 19.1 7,830 15.0 A 1,774 A 18.5
k= % B ® H 6,537 13.0 6,411 12.3 A 126 A 1.9
S D fih 10,574 21.1 10,168 19.5 A 406 A 3.8
3 50,241 100.0 52,120 100.0 1,879 3.7

3. EfExtiE& (BT 5 75 1)

& PEDER AU & PE D

£ H B = F. HE DRk B H ai = F. HEJRK

TRENE E 27,958 29,541 1,583|BE 18,862 19,996 1,134
27 i) 4 13,391 15,905 2514 & # F B 9,712l 10,167 455

AN S S 5 8,436 9,284 848| 1t A & 220 220 0
= o ®Ho& pE 1,989 1,875 A 114 * A & 2,128] 2,349 221
Z D B & E 4,142 2,4771 A 1665 K B M 2,237l 2,444 207
BB Y 4 3,021 3,186 165

ESE&E 19,482| 21,305 1823 * %) fi 1,544 1,630 86
" ¥ EOE 9,880 10,518 638|fi & & 28,578] 30,850 2,272
g E OE w E 48 17| & N & 2,118 2,118 0
BE oo g E 10,739 1168] & A ® & & 815 815 0
o R A A % 25,6701 27,935 2,265

S - Ha B 5 RE S A 25 A 18 7

&t 47,440 50,846 3,406 &FF 47,440 50,846 3,406




